
L2 Algebra Revision #6 

 

1. Solve:  
ସ

 ௧ ା ଶ 
 =   ଷ

 ௧ ା ହ 
 

 

2. Solve:  3x = 2 

 

3. Simplify:   ሺ  64  
െ2ݔ

ሻ
B
  

 

4.   An ice cube is originally 350 grams.  

 It loses 4% of its weight every minute. 

 How long will it take it to reach 200 grams? 

 

5. Simplify:  (2x2 – 3x – 9)(x – 3)–1 

 

6. Solve:  log x (2187) = 3.5  

 

7. Simplify:  
ହ

 ௧ ି ଶ 
 –   ଷ

 ௧ ା ହ 
 

 

8.   Solve:  5x2 – 33x < 14 

  



Answers: L2 Algebra Revision #6 

 

1. Solve:  
ସ

 ௧ ା ଶ 
 =   ଷ

 ௧ ା ହ 
  = 4(t + 5) = 3(t + 2) 

  4t + 20 = 3t + 6 4t – 3t = 6 – 20 t = –14  

 

2. Solve 3x = 2  log(3x) = log(2) x log(3) = log(2) 

  x = log(2) ÷ log(3)   x = 0.631 

 

3. Simplify:   ሺ  64  
െ2ݔ

ሻ
B
  =:  (64x2)

B
       =  (64)

B
 (x2)

B
      = √64ଶయ  x2 × B     = 16xJ     

 

4. Wend = Wstart (1 + change)t 200 = 350 × 0.96t  

 log (200) = log (350 × 0.96t)  log (200) = log (350) + t log (0.96) 

 t = 
୪୭୥ሺଶ଴଴ሻ  –  ୪୭୥ሺଷହ଴ሻ

୪୭୥ ሺ଴.ଽ଺ሻ
 = 13.7 minutes 0.7 mins × 60 = 42.5 seconds  

 No need to round in this context It will take 13 min 42½ sec 

 

5. Simplify:  (2x2 – 3x – 9)(x – 3)–1  
  ଶ௫మି ଷ௫ ି ଽ  

௫ ି ଷ
 

 = 
  ଶሺ௫ ା ଵ.ହሻሺ௫ ି ଷሻ 

௫ ି ଷ
 = 

  ଶሺ௫ ା ଵ.ହሻሺ௫ ି ଷሻ 
௫ ି ଷ

 = 2(x + 1.5) = 2x + 3 

 

6. log x (2187) = 3.5     If y = bx then logby = x 2187= x3.5  

 x = √2187య.ఱ   on calculator using x√ button, or (2187)^(2Ց7) x = 9 

 

7. 
ହ

 ௧ ି ଶ 
 –   ଷ

 ௧ ା ହ 
   = 

ହሺ௧ ା ହሻ
 ሺ௧ – ଶሻሺ௧ ା ହሻ 

 +   ିଷሺ௧ ି ଶሻ
 ሺ௧ ା ହ ሻሺ௧ ି ଶሻ

        = 
ହሺ௧ ା ହሻ ି ଷሺ௧ ି ଶሻ
 ሺ௧ – ଶሻሺ௧ ା ହሻ 

 

  
ହ௧ ା ଶହ ି ଷ௧ ା ଺
 ሺ௧ – ଶሻሺ௧ ା ହሻ 

  = 
૛࢚ ା ૜૚

 ሺ࢚ – ૛ሻሺ࢚ ା ૞ሻ 
 or  

ଶ௧ ା ଷଵ
 ௧మ ା ଷ௧ ି ଵ଴

 

 

8.   5x2 – 33x < 14 5x2 – 33x – 14 < 0 this is inequation, so we get a range 

 solving 5x2 – 33x – 14 = 0 gives x = 7 and –0.4, so these are the limits of the range 

 when x = 0, then 5x2 – 33x < 14 is true, so 0 is inside the range –0.4 < x < 7 

 

(4 and 8 are Merit) 


